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Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt all questions.

3. All questions carry equal marks.

4. Answers may be written either in English or in Hindi, but the same medium should
be followed throughout the paper. '
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(a) Define Investment. Distinguish between Investment and Speculation.  (5)

(b) The current price of a company’s share is ¥ 65 per share. Due to the strong
performance of the company, the share price is expected to be T 90 at the

end of Year 1. In the next year, the company is likely to declare ¥ 2.90 per

share as dividend. Find the expected return of an investor, who wants to

hold the share for one year from today. ()
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(b)
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Following information is available in respeét of two securities A and B :

A B~
Expected Returns (%) 15 12
Standard Deviation (%) 3.60 3.46

Covariance between the returns (%)

Calculate the expected return and risk of the portfolio made up of 70% of

security A and 30% of security B.

OR

)

“No investment is risk-free”. In view of this statement, write a note on the

meaning and types of investment risk.

©)

Mr. A, an investor is evaluating the prospects of investing in two companies

S Ltd. And G Ltd. The projections of returns for the stocks of these two

companies with their probabilities are as follows :

Probability Returns associated with
S Ltd. G Ltd

0.20 15% 16%
0.25 16% 10%
0.30 ~10% 28%
0.25 28% 2%

You are required to :

() Calculate risk and return of investment in individual stocks.

3)
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(i) Calculate the risk and return of the portfolio constituting these stocks

in equal proportions. 4)

(iii) Find out the proportions of each of the above two stocks to construct

a minimum risk portfolio. 3)
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2. (a) Examine the relationship between time to maturity and bond valuation, with

the help of a diagram.

(b) The Following data are available to you as portfolio manager :

&)

Security Estimated Beta Standard
Return (%) Deviation (%)
A 30 2.0 50
B 25 1.5 40
C 20 1.0 30
D 11.5 0.8 25
E 10 0.5 20
Market Index 15 1.0 18
Government 7 0 0
Security
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In terms éf the Security Market Line, find out the expected return of the
securities. Also state which of the securities are under-priced ? (10)
OR

Write short notes on any two of the following :
(1) Bond Indenture
(1)) Deep Discount Bonds

(1) Floating Rate Bonds (5)

The bond (of the face value of T 1000) is available in the market for ¥ 780.
It has Coupon rate of 6% and Maturity period of 8 yrs. If the bond is
redeemable at par. Compute :

(1) Yield to maturity of the bond.

(i) If the required rate of return of an investor is 12%, should he purchase

the bond ?

(10)
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A 30 2.0 50

B 25 1.5 40

C 20 1.0 30

D 11.5 0.8 25

E 10 0.5 20

TR FIARR 15 1.0 18
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3. (a) Distinguish between :
(1) Call and Put option.

(i) European Option and American Option | (5)

(b) A Company is contemplating a Debenture Issue on the following terms :
Face Value = ¥ 10000 per debenture
Term to Maturity = 7 years

Coupon Rate of Interest :

S.No. Time (in Years) 7 Coupon Rate
1 1% to 3" Year ' 7%
2 4% and 5% year 8%

3 6™ and 7" year 9%
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The Current Market Rate of Interest on similar debentures is 11% p.a. The
Company proposes to price the issue so as to yield a (compounded) return
of 12% p.a. to the investors. Determiné the issué price. Assume the redemption

of debenture at par at the end of 7" year. (10)
OR

Explain the different forms of Market Efficiency according to Efficient Market
Hypothesis. What are the Implications of Efficient Market Hypothesis for

investment decisions ? %)

A company declared a dividend of ¥ 3 per share last year. The growth rate
1s expected to be 10% for the next five years and thereafter the company
will grow at the constant rate of 7%. If the sharcholder’s expected rate of

return is 16%, find out the intrinsic value of the share. (10)
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4. (a) Distinguish between :
(i) Future and Forward

(i) Money Market and Capital Market (5)

(b) The Return on two Securities and the market return under different conditions

of the economy are given below :

Situation Probability Return on Return on Market
Security Security Return
A(%) B(%)
Recession 0.2 10 6 10
Average 0.4 12 15 16
Above 0.3 21 27 22
Average
Boom 0.1 27 30 29
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Calculate :
(1) Covariance between the returns on Security A and B.

(i) Beta of Security A, B and Market. (10)
OR

(a) “Mutual Fund is an indirect investment suitable especially for small investors.”
Examine the statement in the light of features and advantages of Mutual

Funds. (5)

(b) Identify (i) which of the following option will be exercised by the buyer of
option and (ii) whether the option is In-The-Money, At the Money, or Out '
of Money for the buyer of option

S.No. Strike Price Nature of Market Price
(in%) Option (in%)
l 200 Call 220
2 280 Put 260
3 235 Put 220
4 240 | Call - 240
5 252 Call 245
6 260 Put 285
7 215 | Put 210
| (10)

(%) Fefafan ¥ &R w@=T:
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5. (a)
(b)
(a)
(b)

11

A share of the company is available at ¥ 2500. If the risk-free rate
of return is 7% per annum compounding continuously and dividend

yield is 5% p.a. what will be the future price of the share after 3
months. (5)

The beta coefficient of the share of Shri Krishna Limited is 1.5. The risk free
rate of return is 12% and the required rate of return is 18% on the market

portfolio. If the current dividend declared is ¥ 2.50 and the growth rate of

dividend and earnings is 8%. At what price, should the share of Shri Krishna

Limited be sold based on the CAPM ? (10)
OR

Mr. K expects a return of 15 percent by investing on his own in the
equity shares. He is considering a mutual fund scheme which has the issue
expenses of 5.5 percent and expected to earn 17 percent. How much should

be the recurring expenses of mutual fund to provide Mr. K a return of 15

percent ? (5)

Explain various types of Charts used by technical analysts to predict future

behaviour of prices. (10)
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